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R A G 

Reasoning 

Topic: Simplifying Algebraic Fractions 1 

1.   12x - 4 

 

Prove that: 

 

Simplify the following algebraic expressions: 

 
    36x + 4 

 

x - 3 

 
4 

 

x2 - 9 

 
    4x + 12 

 Is equal to:  

 

2.  5x + 15 

 
     7x + 21 

 
3.  4x + 2 

 
    14x + 7 

 

4. 4a + 8b 

 
    a2 + 2ab 

 
5.   3x – x2 

 
          x2 

 
6.       x 

 
      x2 – 2x 

 

7.     4b2 

 
    2ab – 8b2 

 
8.     3ab 

 
     a2b – ab2 

 
9. 10x2 – 20x 

 
     5x2 + 10x 

 

The area of the rectangle below is x2 + 7x + 10.  
What is the height in terms of x? 
 

     3x +_6 
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